Fonteintje *** ClubTornooi *** 4 giften per ronde *** 21/03/2014 NZ ow gift 1 NZ oW gift 2 NZ oW gift 3 NZ oW gift 4 NZ oW
1 CLEEREN Monda-LAMBRICHTS Guido 2 CLAESEN Albert-PALMERS Louis 1 2 5 5 -420 04H= 8 2 140 N2S+1 4 6 140 N3S= 4 6 600 N3N=
3 SMETS Brigitte-VAN DE SCHILDE Hans 4 KERKHOFS Jaak-CLAES Maurice 10 11 10 0 -140 O3H= 8 2 140 N2S+1] 9 1 170 N2S+2] 8 2 630 N3N+1
5 MEERS Willem-PAGNAER Jose 6 JANS Andre-LENAERTS Emiel 4 7 0 10 —-450 O4H+1 1 9 100 03K-2 0 10 110 N2S= 2 8 150 N2N+1
7 ACHTEN Jozef-ACHTEN Albert 8 DONNE Germain-ROOSEN Robby
9 MARTENS Jean-Pierre-WOLFS Paula 10 KEUPERS Florent-VANDENBOSCH Raymond 12 2 8 -430 03N b9 1000282 SR 8 2 030 N3t
11 MAENHOUT Rudy-VANSCHOENWINKEL Roger 12 THIJSEN Jos-VERVOORT Guido 13 6 5 5 -420 04= 8 2 140 N2S+1 4 6 140 N2S+1 8 2 630 N3N+l
13 LATHOUWERS Tom-WEERTS Frans 14 Bye Bye
5 8 8 2 -200 02H+3 4 6 110 N2S= 9 1 170 N2S+2 0 10 140 N2S+1|
Nz ow gift 5 NZ ow gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow Nz ow gift 9 NZ ow gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 8 2 650 N4H+1| 10 O 460 N3N+2| 0 10 -790 O4H!=| 10 O 50 O4H-1 5 6 2 8 -110 02S= | 10 O 300 O4H-3] 5 5 -50 N4H-1] 3 7 170 N2H+2
12 13 4 6 620 N4H= 0 10 110 N2K+1 8 -110 O2R+1 3 7 -420 0O4H= Bye
6 9 0 10 170 N2H+2 7 3 400 N3N= 10 O 140 N2S+1 3 7 -420 O4H= 8 11 9 0 PAS 5 5 110 N2S= 2 8 -100 N3H-2 8 2 620 N4H=
Bye 7 2 6 4 -50 N2R-1 1 9 -100 N3s-1 9 1 110 N2H= 3 7 170 N2H+2
1 8 10 O 680 N4H+2 3 130 N3K+1 7 3 110 N2S= 3 7 -420 0O4H= 3 10 0 10 -120 OIN+1 5 5 110 N2S= 0 10 -150 N5H-3 0 10 -100 N4H-1
11 2 4 6 620 N4H= 7 3 400 N5K= 7 3 110 N2S= 7 -420 O4H= 13 4 1 0 PAS 1 9 -100 N4s-1 5 5 -50 N3H-1 8 2 620 N4H=
7 10 4 6 620 N4H= 3 130 N3K+1 4 6 -100 N3S-1 8 2 -170 O3H+1 9 12 4 6 -90 OIN= 8 2 140 N2S+1 9 1 110 N2H= 8 2 620 N4H=
Nz ow gift 13 NZ oW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW Nz ow gift 17 NZ oW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
7 8 9 1 150 N2N+1 6 4 420 N4Ss= 10 O 730 N3H!= 4 6 120 NIN+1| 10 2 8 -50 N4s-1 7 3 90 NIN= 4 6 -50 N4s-1 1 9 -680 04S+2
2 3 4 6 -100 N2N-1 2 8 -50 N4s-1 3 7 -180 02N+2 8 110 N2S= 4 5 10 O 140 N2S+1 1 9 -100 NIN-1 4 6 -50 N3S-1 5 5 -650 04S+1
10 13 4 6 -100 N2N-1/ 10 O 450 N4S+1 8 2 110 N1S+1] 10 O 170 N2S+2 12 1 6 4 50 04H-1 4 6 80 N1S= 9 1 140 N3S= 5 5 -650 04S+1
9 4 0 10 -500 N2NI-2 6 4 420 N4S= 0 10 -300 N5H-3 7 3 140 N2S+1 11 6 2 8 -50 N4s-1 1 9 -100 N2N-1 0 10 -100 N4S-2 9 1 -620 04S=
5 12 4 6 -100 N2N-1 0 10 -100 N4S-2 3 7 -180 OIN+3 7 3 140 N1S+2 Bye
1 6 9 1 150 N2N+1 6 4 420 N4S= 6 4 -120 O02N= 0 10 -50 N2s-1 3 8 8 2 100 O5HI-1 10 O 120 NIN+1 1 140 N3Ss= 9 1 -620 04S=
Bye 13 2 2 8 -50 N4s-1) 7 3 90 NiIN= 4 6 -50 N4S-1] 1 9 -680 04S+2
Nz ow gift 21 NZ oW gift 22 NZ oW gift 23 NZ oW gift 24 NZ oW Nz ow gift 25 NZ oW gift 26 NZ OW gift 27 NZ oW gift 28 NZ OW
11 12 5 5 650 N4S+1| 8 2 450 N4S+1] 0 10 -600 O3N= 6 -120 O1N+1 Bye
6 7 5 5 650 N4H+1 0 10 -50 N3N-1 4 6 -110 02H= 2 50 O3N-1 8 9 3 7 130 N2R+2 4 6 -120 OIN+1} 10 O 100 05S-2 6 4 -100 N4H-1
Bye 2 5 0 10 -50 N5R-1] 10 O 200 O3N-2 6 -420 04S=| 10 O 170 N3H+1
13 8 5 5 650 N4H+1] 8 2 450 N5H= 8 2 -90 OIN= 8 2 50 O3N-1 1 10 8 2 430 N3N+1] O 10 -600 O3N= 6 -420 04S= 4 6 -200 N3N-2
9 2 5 5 650 N4H+1 8 2 450 N4S+1 6 4 -100 N2R-1 2 8 -150 N2S-3 11 4 10 O 500 03S!-2 4 6 -120 OIN+1 2 -170 02S+2 8 2 100 04K-2
5 10 0 10 170 N3S+1] 4 6 430 N3N+1 10 O 100 03S-1f O 10 -180 O1IN+3 7 12 6 4 300 03s-3] 4 6 -120 O2N= 6 -420 04S= 1 9 -500 N4H!-
1 4 10 O 690 N3N+3] 2 8 420 N4S= 2 8 -140 O2H+1] 8 2 50 O3N-1 3 6 3 7 130 N3R+1] 8 2 100 O3N-1] O 10 -430 O3N+1| 1 9 -500 N4H!-




